

ITB 2021-033 - Floor Covering Removal and Installation
Bid Opening: December 9, 2020 at 3:00 p.m.

A. CARPET (Broadloom) – per Square Yard				
ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
1.	Installation	\$ 15.00	500	\$ 7,500.00
2.	Removal and disposal – <u>Normal</u> demolition	\$ 4.00	500	\$ 2,000.00
3.	Removal and disposal – <u>Machine</u> demolition	\$ 4.00	500	\$ 2,000.00
After Normal Office Hours				
4.	Installation	\$ 22.50	500	\$ 11,250.00
5.	Removal and disposal – <u>Normal</u> demolition	\$ 6.00	500	\$ 3,000.00
6.	Removal and disposal – <u>Machine</u> demolition	\$ 6.00	500	\$ 3,000.00
SUBTOTAL A: (ITEMS 1 THROUGH 6)				\$ 28,750.00

B CARPET (TILE) – per Square Foot				
ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
1.	Installation	\$ 8.00	500	\$ 4,000.00
2.	Removal and disposal – <u>Normal</u> demolition	\$ 4.00	500	\$ 2,000.00
3.	Removal and disposal – <u>Machine</u> demolition	\$ 4.00	500	\$ 2,000.00
After Normal Office Hours				
4.	Installation	\$ 12.00	500	\$ 6,000.00
5.	Removal and disposal – <u>Normal</u> demolition	\$ 6.00	500	\$ 3,000.00
6.	Removal and disposal – <u>Machine</u> demolition	\$ 6.00	500	\$ 3,000.00
SUBTOTAL B: (ITEMS 7 THROUGH 12)				\$ 20,000.00

C. VINYL COMPOSITE TILE (VCT) – per Square Foot				
ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
1.	Installation	\$ 6.00	250	\$ 1,500.00
2.	Removal and disposal – <u>Normal</u> demolition	\$ 2.00	250	\$ 500.00
3.	Removal and disposal – <u>Machine</u> demolition	\$ 3.00	250	\$ 750.00
After Normal Office Hours				
4.	Installation	\$ 9.00	250	\$ 2,250.00
5.	Removal and disposal – <u>Normal</u> demolition	\$ 4.00	250	\$ 1,000.00
6.	Removal and disposal – <u>Machine</u> demolition	\$ 6.00	250	\$ 1,500.00
SUBTOTAL C: (ITEMS 13 THROUGH 18)				\$ 7,500.00

D. CERAMIC TILE – LABOR ONLY – per Square Foot				
ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
7.	Installation	\$ 8.00	100	\$ 800.00
8.	Removal and disposal – <u>Normal</u> demolition	\$ 4.00	100	\$ 400.00
9.	Removal and disposal – <u>Machine</u> demolition	\$ 4.00	100	\$ 400.00
After Normal Office Hours				
10.	Installation	\$ 12.00	100	\$ 1,200.00
11.	Removal and disposal – <u>Normal</u> demolition	\$ 6.00	100	\$ 600.00
12.	Removal and disposal – <u>Machine</u> demolition	\$ 6.00	100	\$ 600.00
SUBTOTAL D: (ITEMS 19 THROUGH 24)				\$ 4,000.00

E. RUBBER TILE – per Square Foot

ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
1.	Installation	\$ 12.00	250	\$ 3,000.00
2.	Removal and disposal – <u>Normal</u> demolition	\$ 4.00	250	\$ 1,000.00
3.	Removal and disposal – <u>Machine</u> demolition	\$ 4.00	250	\$ 1,000.00
After Normal Office Hours				
4.	Installation	\$ 18.00	250	\$ 4,500.00
5.	Removal and disposal – <u>Normal</u> demolition	\$ 6.00	250	\$ 1,500.00
6.	Removal and disposal – <u>Machine</u> demolition	\$ 6.00	250	\$ 1,500.00
SUBTOTAL E: (ITEMS 25 THROUGH 30)				\$ 12,500.00

F. COVE BASE – per Linear Foot

ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
7.	Carpet – Installation	\$ 4.00	50	\$ 200.00
8.	Carpet – Removal and disposal – <u>Machine</u> demolition	\$ 3.00	50	\$ 150.00
After Normal Office Hours				
9.	Ceramic – Installation	\$ 8.00	50	\$ 400.00
10.	Ceramic – Removal and disposal – <u>Machine</u> demolition	\$ 4.00	50	\$ 200.00
SUBTOTAL F: (ITEMS 31 THROUGH 34)				\$ 950.00

G. LUAN SUBFLOORING – per Square Foot

ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
1.	Carpet – Installation	\$ 4.00	100	\$ 400.00
2.	Carpet – Removal and disposal – Normal demolition	\$ 3.00	100	\$ 300.00
After Normal Office Hours				
3.	Ceramic – Installation	\$ 8.00	100	\$ 800.00
4.	Ceramic – Removal and disposal – Normal demolition	\$ 4.00	100	\$ 400.00
SUBTOTAL G: (ITEMS 35 THROUGH 38)				\$ 1,900.00

H. TRANSITION STRIPS – per Linear Foot

ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours				
1.	Carpet – Installation	\$ 3.00	50	\$ 150.00
2.	Carpet – Removal and disposal – Normal demolition	\$ 2.00	50	\$ 100.00
After Normal Office Hours				
3.	Ceramic – Installation	\$ 6.00	50	\$ 300.00
4.	Ceramic – Removal and disposal – Normal demolition	\$ 4.00	50	\$ 200.00
SUBTOTAL H: (ITEMS 39 THROUGH 42)				\$ 750.00

I. SKIM COATING OF FLOOR(S) – per Square Foot				
ITEM #	DESCRIPTION	UNIT PRICE	ESTIMATED QUANTITY	TOTAL
During Normal Office Hours and After Normal Office Hours				
1.	Skim Coat	\$ 2.50	150	\$ 375.00
SUBTOTAL I: (ITEM 1)				\$ 375.00

J. PRODUCT PRICING (NO INSTALLATION - EXTRA MATERIAL ORDERS ONLY)			
DESCRIPTION	UNIT OF MEASURE	QUANTITY PER BOX	UNIT PRICE
Composite Tile – VCT	Box	1	\$ 50.00
Rubber Tile	Box	1	\$ 450.00
SUBTOTAL J: (ITEMS 1 and 2)			\$ 500.00

BID SUMMARY		
DESCRIPTION		TOTAL
Subtotal A: Carpet (Broadloom) – per Square Yard – Items 1 – 6		\$ 28,750.00
Subtotal B: Carpet (Tile) – per Square Foot – Items 7 – 12		\$ 20,000.00
Subtotal C: Vinyl Composite Tile (VCT) – Per Square Foot – Items 13 – 18		\$ 7,500.00
Subtotal D: Ceramic Tile – LABOR ONLY – per Square Foot – Items 19 – 24		\$ 4,000.00
Subtotal E: Rubber Tile – per Square Foot – Items 25 – 30		\$ 12,500.00
Subtotal F: Cove Base – per Linear Foot – Items 31 – 34		\$ 950.00
Subtotal G: Luan Subflooring – per Square Foot – Items 35 – 38		\$ 1,900.00
Subtotal H: Transition Strips – per Linear Foot – Items 39 – 42		\$ 750.00
Subtotal I: Skim Coating of Floor(s) (If Required) – Item 43		\$ 375.00
Subtotal J: Product Pricing	Composite Tile – VCT	\$ 50.00
	Rubber Tile	\$ 450.00
TOTAL		\$ 77,225.00